
 
If 𝒙, 𝒚, 𝒛 ∈ ℝ then: 

𝟐(𝟓 − 𝒙 − 𝒚 − 𝒛)𝟐 + 𝟏𝟒(𝒙𝟐 + 𝒚𝟐 + 𝒛𝟐) ≥ 𝟑𝟓 

Proposed by Daniel Sitaru – Romania  

Solution 1 by George Florin Șerban-Romania 

𝒙𝟐 + 𝒚𝟐 + 𝒛𝟐 ≥
𝑪𝑩𝑺 (𝒙 + 𝒚 + 𝒛)𝟐

𝟑
 

𝑺 = 𝒙 + 𝒚 + 𝒛 

⇒ 𝟐 ⋅ (𝟓 − 𝑺)𝟐 + 𝟏𝟒∑𝒙𝟐

𝒄𝒚𝒄

≥ 𝟐(𝟓 − 𝑺)𝟐 +
𝟏𝟒𝑺𝟐

𝟑
≥ 𝟑𝟓 ⇒ 

⇒ 𝟓𝟎 − 𝟐𝟎𝑺 + 𝟐𝑺𝟐 +
𝟏𝟒𝑺𝟐

𝟑
≥ 𝟑𝟓 ⇒ 𝟏𝟓𝟎 − 𝟔𝟎𝑺 + 𝟔𝑺𝟐 + 𝟏𝟒𝑺𝟐 ≥ 𝟏𝟎𝟓 ⇒ 

⇒ 𝟐𝟎𝑺𝟐 − 𝟔𝟎𝑺 + 𝟒𝟓 ≥ 𝟎|: 𝟓 

⇒ 𝟒𝑺𝟐 − 𝟏𝟐𝑺 + 𝟗 ≥ 𝟎 ⇒ (𝟐𝑺 − 𝟑)𝟐 ≥ 𝟎 

true, (∀)𝑺 ∈ ℝ 

Then 𝟐 ⋅ (𝑺 − 𝒙 − 𝒚 − 𝒛)𝟐 + 𝟏𝟒(𝒙𝟐 + 𝒚𝟐 + 𝒛𝟐) ≥ 𝟑𝟓, (∀)𝒙, 𝒚, 𝒛 ∈ ℝ 

Solution 2 by George Florin Șerban-Romania 

The second method: 

𝟐 ⋅ (𝟓 − 𝒙 − 𝒚 − 𝒛)𝟐 + 𝟏𝟒(𝒙𝟐 + 𝒚𝟐 + 𝒛𝟐) ≥ 𝟑𝟓 

𝟐 ⋅ (𝟐𝟓 − 𝟏𝟎∑𝒙

𝒄𝒚𝒄

+ (𝒙 + 𝒚 + 𝒛)𝟐 + 𝟏𝟒∑𝒙𝟐

𝒄𝒚𝒄

≥ 𝟑𝟓 

𝟓𝟎 − 𝟐𝟎∑𝒙

𝒄𝒚𝒄

+ 𝟐∑𝒙𝟐

𝒄𝒚𝒄

+ 𝟒∑𝒙𝒚

𝒄𝒚𝒄

+ 𝟏𝟒∑𝒙𝟐

𝒄𝒚𝒄

− 𝟑𝟓 ≥ 𝟎 

𝟏𝟔∑𝒙𝟐

𝒄𝒚𝒄

+ 𝟒∑𝒙𝒚

𝒄𝒚𝒄

− 𝟐𝟎∑𝒙

𝒄𝒚𝒄

+ 𝟏𝟓 ≥ 𝟎 

(𝒙 + 𝟐𝒚 −
𝟑

𝟐
)
𝟐

+ (𝒚 + 𝟐𝒛 −
𝟑

𝟐
)
𝟐

+ (𝒛 + 𝟐𝒙 −
𝟑

𝟐
)
𝟐

+ 

+𝟏𝟏(𝒙 −
𝟏

𝟐
)
𝟐

+ 𝟏𝟏(𝒚 −
𝟏

𝟐
)
𝟐

+ 𝟏𝟏(𝒛 −
𝟏

𝟐
)
𝟐

= 

= 𝒙𝟐 + 𝟒𝒚𝟐 +
𝟗

𝟒
+ 𝟒𝒙𝒚 − 𝟔𝒚 − 𝟑𝒙 + 𝒚𝟐 + 𝟒𝒛𝟐 +

𝟗

𝟒
+ 



 

+𝟏𝟏𝒙𝟐 − 𝟏𝟏𝒙 +
𝟏𝟏

𝟒
+ 𝟏𝟏𝒚𝟐 − 𝟏𝟏𝒚 +

𝟏𝟏

𝒚
+ 𝟏𝟏𝒛𝟐 − 𝟏𝟏𝒛 +

𝟏𝟏

𝟒
= 

= 𝟏𝟔∑𝒙𝟐

𝒄𝒚𝒄

+ 𝟒∑𝒙𝒚

𝒄𝒚𝒄

− 𝟐𝟎∑𝒙

𝒄𝒚𝒄

+ 𝟏𝟓 ≥ 𝟎 

true, because (𝒙 + 𝟐𝒚 −
𝟑

𝟐
)
𝟐

≥ 𝟎, (∀)𝒙, 𝒚 ∈ ℝ 

(𝒚 + 𝟐𝒛 −
𝟑

𝟐
)
𝟐

≥ 𝟎; (∀)𝒚, 𝒛 ∈ ℝ, (𝒛 + 𝟐𝒙 −
𝟑

𝟑
)
𝟐

≥ 𝟎 

(∀)𝒚 ∈ ℝ, (𝒛 −
𝟏

𝟐
)
𝟐

≥ 𝟎; (∀)𝒛 ∈ ℝ. Equality is if 𝒙 −
𝟏

𝟐
= 𝒚 −

𝟏

𝟐
= 𝒛 −

𝟏

𝟐
= 𝟎 

𝒙 + 𝟐𝒚 −
𝟑

𝟐
= 𝒚 + 𝟐𝒛 −

𝟑

𝟐
= 𝒛 + 𝟐𝒙 −

𝟑

𝟐
= 𝟎 ⇒ 𝒙 = 𝒚 = 𝒛 =

𝟏

𝟐
∈ ℝ 

Solution 3 by Ravi Prakash-New Delhi-India 

𝟐(𝟓 − 𝒙 − 𝒚 − 𝒛)𝟐 + 𝟏𝟒(𝒙𝟐 + 𝒚𝟐 + 𝒛𝟐) ≥ 𝟑𝟓 

⇔ 𝟐[𝟐𝟓 + 𝒙𝟐 + 𝒚𝟐 + 𝒛𝟐 − 𝟏𝟎𝒙 − 𝟏𝟎𝒚 − 𝟏𝟎𝒛 + 𝟐𝒙𝒚 + 𝟐𝒚𝒛 + 𝟐𝒛𝒙] + 

+𝟏𝟒𝒙𝟐 + 𝟏𝟒𝒚𝟐 + 𝟏𝟒𝒛𝟐 ≥ 𝟑𝟓 

⇔ 𝟏𝟔𝒙𝟐 + 𝟏𝟔𝒚𝟐 + 𝟏𝟔𝒛𝟐 + 𝟒𝒙𝒚 + 𝟒𝒚𝒛 + 𝟒𝒛𝒙 − 

−𝟐𝟎𝒙 + 𝟐𝟎𝒚 − 𝟐𝟎𝒛 + 𝟏𝟓 ≥ 𝟎 

⇔ 𝟑(𝟒𝒙𝟐 − 𝟒𝒙 + 𝟏) + 𝟑(𝟒𝒚𝟐 − 𝟒𝒚+ 𝟏) + 𝟑(𝟒𝒛𝟐 − 𝟒𝒛 + 𝟏) + 

+𝟐(𝟏 + 𝒙𝟐 + 𝒚𝟐 + 𝟐𝒙𝒚− 𝟐𝒙 − 𝟐𝒚) + 

+𝟐(𝟏 + 𝒚𝟐 + 𝒛𝟐 + 𝟐𝒚𝒛 − 𝟐𝒚 − 𝟐𝒛) + 

+𝟐(𝟏 + 𝒛𝟐 + 𝒙𝟐 + 𝟐𝒛𝒙 − 𝟐𝒛 − 𝟐𝒙) ≥ 𝟎 ⇔ 𝟑[(𝟐𝒙 − 𝟏)𝟐 + (𝟐𝒚 − 𝟏)𝟐 + (𝟐𝒛 − 𝟏)𝟐] + 

+𝟐[(𝟏 − 𝒙 − 𝒚)𝟐 + (𝟏 − 𝒚 − 𝒛)𝟐 + (𝟏 − 𝒛 − 𝒙)𝟐] ≥ 𝟎 

which is true and equality when 𝒙 = 𝒚 = 𝒛 =
𝟏

𝟐
. 

Solution 4 by Khaled Abd Imouti-Damascus-Syria 

𝟐(𝟓 − (𝒙 + 𝒚 + 𝒛))
𝟐
+ 𝟏𝟒(𝒙𝟐 + 𝒚𝟐 + 𝒛𝟐) ≥

?
𝟑𝟓 

𝟐[𝟐𝟓 − 𝟏𝟎(𝒙 + 𝒚 + 𝒛) + (𝒙𝟐 + 𝒚𝟐 + 𝒛𝟐) + 𝟐(𝒙𝒚 + 𝒚𝒛 + 𝒛𝒙)] + 𝟏𝟒(𝒙𝟐 + 𝒚𝟐 + 𝒛𝟐) ≥
?
𝟑𝟓 

𝟏𝟔 (𝒙𝟐 + 𝒚𝟐 + 𝒛𝟐)⏟          
𝑨

+ 𝟒(𝒙𝒚 + 𝒚𝒛 + 𝒛𝒙)⏟          
𝑩

− 𝟐𝟎 (𝒙 + 𝒚 + 𝒛)⏟      
𝜸

+ 𝟏𝟓 ≥
?
𝟎 

𝑷𝟏 = 𝟏𝟔𝑨 + 𝟒𝑩 − 𝟐𝟎𝜸 + 𝟏𝟓 ≥
?
𝟎 



 
but: (𝒙 + 𝒚 + 𝒛)𝟐 = 𝒙𝟐 + 𝒚𝟐 + 𝒛𝟐 + 𝟐(𝒙𝒚 + 𝒚𝒛 + 𝒛𝒙) 

𝜸𝟐 = 𝑨 + 𝟐𝑩, but 𝑩 ≤ 𝑨 (Cauchy Schwarz inequality) 

𝜸𝟐 ≤ 𝟑𝑨, 𝑨 ≥
𝟏

𝟑
𝜸𝟐, 𝑩 =

𝜸𝟐 − 𝑨

𝟐
 

𝑷𝟏 = 𝟏𝟔𝑨 + 𝟒(
𝜸𝟐 − 𝑨

𝟐
) − 𝟐𝟎𝜸 + 𝟏𝟓 ≥

?
𝟎 

𝑷𝟏 = 𝟏𝟔𝑨 + 𝟐(𝜸
𝟐 − 𝑨) − 𝟐𝟎𝜸 + 𝟏𝟓 ≥

?
𝟎 

𝑷𝟏 = 𝟐𝜸
𝟐 − 𝟐𝟎𝜸 + 𝟏𝟒𝑨 + 𝟏𝟓 ≥

?
𝟎 

𝑷𝟏 = 𝟐(𝜸
𝟐 − 𝟏𝟎𝜸 + 𝟕𝑨 +

𝟏𝟓

𝟐
) ≥
?
𝟎 

𝑨 ≥
𝟏

𝟑
𝜸𝟐. So: 𝒍𝟏 ≥ 𝟐 (𝜸

𝟐 − 𝟏𝟎𝜸 +
𝟕

𝟑
𝜸𝟐 +

𝟏𝟓

𝟐
) , 𝒍𝟏 ≥ 𝟐(

𝟏𝟎

𝟑
𝜸𝟐 − 𝟏𝟎𝜸 +

𝟏𝟓

𝟐
) 

𝚫 = 𝟏𝟎𝟎 − 𝟒(
𝟏𝟎

𝟑
) (

𝟏𝟓

𝟐
) = 𝟏𝟎𝟎 − 𝟏𝟎𝟎 = 𝟎.So: 

𝟏𝟎

𝟑
𝜸𝟐 − 𝟏𝟎𝜸 +

𝟏𝟓

𝟐
≥ 𝟎, ∀𝜸 ∈ ℝ 

and then: 𝒍𝟏 ≥ 𝟎 


